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PC-Name: CAD-2
Benutzername: JWF
B A
[ Benutzerparameter ;I
Parametername Einheit Gleichung MNenrwert | Tol, | Modellwert EE Kommentar
-k A0 rnm 17 rm 17,000000 Q 17, 000000 [ K&t perauliend
{280 mim 16 mm 6,000000 [ |1s,000000 | [zl.aufens
~frst mm 31 mm s1,000000 () |31,000000 [ |Tiefe
K i 19 mm 19000000 (€3 [19,000000 | [kugels
5@l mim 12,5 mm 1z,500000 [ |1z,500000 | [Schaft@Unten
5@ mm 10 mm 000000 [ |io,oooo00 | [Schaft@oben
e min S5 mm 55,000000 Q 55, 000000 [ |Gewindelangs
eI mim 14,5 mm 14500000 [ |14,500000 | |Einsticha
~fkdp mm 20 mm z0,000000 () |en,ooooo0 (T |abst Einstich kdp
- AF min 3,5 mm 9, 500000 Q 3, 500000 [ |kugelabflachung
{5yl rim 15 mm 15,000000 Q 15000000 |7 [Schiiisselweite
-{SiH mm 3,4 mm 3, 400000 O 3,400000 [ |schlisselweitenhihe
- SEL min 3 mm &, 000000 Q 3, 000000 [T |schaft@ilange
-l AFL rim sqreClAFLH) | 10 mm 26,016521 Q 26,016521 ™ |kugelabflachunglange
KAFLH rm E (KEE J.I :‘22 DDEE)) = ; g’EE: 1100 DUEE)) “Ulerearson [ |oreavson |1 fugelabflachunglangehi
[

o

[ Mur in Gleichunigen verwendete Parameter anzeigen

Hinzufligen

VerkniipFen

|0l

Toleranz zuriicksetzen

+C>




